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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the land reform measures undertaken in India 

after independence and evaluate their impacts. 

LorU=rk izkfIr ds ckn Hkkjr esa Hkwfe lq/kkj ds fy, viuk, 

x, mik;ksa dk o.kZu dhft, rFkk buds izHkkoksa dk ewY;kadu 

dhft,A 

2. Write a note on Privatization, Globalization and 

Liberalization. 

futhdj.k] HkweaMyhdj.k vkSj mnkjhdj.k ij ys[k fyf[k,A 

3. What are the causes of unemployment in India ? 

Explain in brief the different poverty alleviation 

programmes started by government. 

Hkkjr esa csjkstxkjh ds D;k dkj.k gSa \ ljdkj }kjk xjhch 

mUewyu ds fy, pyk, x, lHkh dk;ZØeksa dh laf{kIr O;k[;k 

dhft,A 

4. Discuss the causes of disequilibrium in the balance of 

payment of a country. How can this disequilibrium be 

corrected ? 

fdlh ns’k ds Hkqxrku lUrqyu esa vlkE;rk ds dkj.kksa dh 

foospuk dhft,A ;g vlkE;rk dSls lq/kkjh tk ldrh gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. State the features of Planning. 

fu;kstu dh fo’ks”krk,¡ crkb;sA 

2. Discuss the Green Revolution in India. 

Hkkjr esa gfjr Økafr dh foospuk dhft,A 

3. What is Disguised Unemployment ? 

izPNUu csjkstxkjh D;k gS \ 

4. Relations between Agriculture and Industry. 

d`f”k vkSj m|ksx ds chp varlZEcU/kA 

5. Discuss the main elements of Public Distribution 

System. 

lkoZtfud forj.k iz.kkyh dh eq[; ckrksa ij izdk’k Mkfy,A 

6. What do you mean by “Export Promotion” and 

“Import Substitution” ? 

ßfu;kZr lEo/kZuÞ vkSj ßvk;kr izfrLFkkiuÞ ls D;k vk’k;  

gS \ 
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7. Explain the trends of Public Expenditure in India. 

Hkkjr esa lkoZtfud O;; dh izo`fŸk;ksa dks Li”V dhft,A 

8. Discuss the effect of Multinational Corporations on 

Indian Agriculture. 

Hkkjrh; d`f”k ij cgqjk”Vªh; fuxeksa dk izHkko crkb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Which of the following is a characteristic of Indian 

Economy ? 

(a) Predominance of agricultural sector 

(b) Massive unemployment 

(c) Low per capita income 

(d) All of the above 

fuEufyf[kr esa ls dkSu&lh Hkkjrh; vFkZO;oLFkk dh fo’ks”krk 

gS \ 

¼v½ d`f”k {ks= dh iz/kkurk 

¼c½ vR;f/kd csjkstxkjh 

¼l½ fuEu izfr O;fDr vk; 

¼n½ mi;qZDr lHkh 
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2. The size of marginal land holding in India is : 

(a) Less than 1 hectare 

(b) 1 hectare to 2 hectare 

(c) 2 hectare to 5 hectare 

(d) More than 5 hectare 

Hkkjr esa d`f”k dh lhekar tksrksa dk vkdkj gS % 

¼v½ 1 gsDVs;j ls de 

¼c½ 1 gsDVs;j ls 2 gsDVs;j rd 

¼l½ 2 gsDVs;j ls 5 gsDVs;j rd 

¼n½ 5 gsDVs;j ls vf/kd 

3. „Disguised unemployment‟ is seen in which sector : 

(a) Industry 

(b) Trade 

(c) Agriculture 

(d) Transport 

^fNih csjkstxkjh* fdl {ks= dh leL;k gS \ 

¼v½ m|ksx 

¼c½ O;kikj 

¼l½ d`f”k 

¼n½ ;krk;kr 

4. Economic liberalization in India was started in : 

(a) 1991 

(b) 1993 

(c) 1995 

(d) 1997 
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Hkkjr esa vkfFkZd mnkjhdj.k dh izfØ;k ‘kq: dh xbZ % 

¼v½ 1991 esa 

¼c½ 1993 esa 

¼l½ 1995 esa 

¼n½ 1997 esa 

5. Land Reform Policy in India has been started in : 

(a) 1950 

(b) 1951 

(c) 1948 

(d) 1947 

Hkkjr esa d`f”k lq/kkj lfefr dk xBu fdl o”kZ esa fd;k  

x;k \ 

¼v½ 1950 esa 

¼c½ 1951 esa 

¼l½ 1948 esa 

¼n½ 1947 esa 

6. Allocation of resources between centre and states is 

done by : 

(a) Finance Ministry 

(b) Finance Commission 

(c) Prime Minister of India 

(d) President of India 
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dsUnz vkSj jkT; ljdkjksa ds chp lalk/kuksa dk c¡Vokjk fd;k 

tkrk gS % 

¼v½ foŸk eU=ky; }kjk 

¼c½ foŸk vk;ksx }kjk 

¼l½ Hkkjr ds iz/kkueU=h }kjk 

¼n½ Hkkjr ds jk”Vªifr }kjk 

7. In which five year plan, the process of industrialization 

started in India ? 

(a) Second 

(b) First 

(c) Third 

(d) Fourth 

Hkkjr esa vkS|ksxhdj.k dh ‘kq#vkr fdl iapo”khZ; ;kstuk ls 

gqbZ \ 

¼v½ f}rh; 

¼c½ izFke 

¼l½ r`rh; 

¼n½ prqFkZ 

8. The term invisible items is used in the context of : 

(a) Balance of Payment 

(b) Black Money 

(c) Balance of Trade 

(d) Price Subsidy 

vn`’; ensa ‘kCnkoyh dk iz;ksx fuEufyf[kr ds lUnHkZ esa 

fd;k tkrk gS % 

¼v½ Hkqxrku lUrqyu 
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¼c½ dkyk /ku 

¼l½ O;kikj lUrqyu 

¼n½ dher NwV 

9. Which of the following sectors contributes maximum 

gross saving in India ? 

(a) Public Sector 

(b) Public Corporate Sector 

(c) Domestic Sector 

(d) Household Sector 

Hkkjr dk dkSu&lk {ks= vf/kdre fuoy cprksa dks tqVkrk 

gS \ 

¼v½ lkoZtfud {ks= 

¼c½ futh dEiuh {ks= 

¼l½ ?kjsyw {ks= 

¼n½ ikfjokfjd {ks= 

10. When was the New Industrial Policy announced ? 

(a) 1990 

(b) 1991 

(c) 1992 

(d) 1993 

ubZ vkS|ksfxd uhfr dc ?kksf”kr dh xbZ \ 

¼v½ 1990 

¼c½ 1991 

¼l½ 1992 

¼n½ 1993 
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